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MelISE e 2 213,342 247,050 A33,708
101 @124l 17,924 17,950 A28
04 JIZHHZ2Z2XNSE S 17,924 17,950 A 26
O&AM2e 22 41,6803 » 123« 5,127
ON&Es 2= ¥ 2 4x=Ry
41,6803 » 270 11,254
O4AZR o F8# 2ATY A=Y
41,680% = 37 1,543
201 Ler24E] 178,840 192,596 N 13,756
01 At 2t 2l 20,820 35,520 A 14,700
o2z 2% IssE JISH & 25 # 2,300
OMgIEsgHdeld Is ¢
260,000& * 79 1,820




SN BYLEAYL
Hu: MYIISS MR gL
ool MY IISe e CER-ED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
O=&l =vlg gZes o 25| dxia
2,000,0008 * 53] 10,000
OBIIEHI e 79 200,0008 * 2CH 400
OOl NAEE U A= 300
OMAIISEHAE 29 HYSE 2 3,000
OXFHIIZ Melbl 600,0008 * 53] 3,000
02 22| 158,020 157,076 944
OMYIIZEHAE RFY 64,000
OMHIIZEHR &IIB 85,000
CEREIE 10,0002 * 18l 100
O22X Ze20Y DSyl 800,008 * 1% 8,800
OXs22 10,0008 * 128 120
202 04t 8,856 8,532 324
01 20018l 8,856 8,532 324
oHIIEHALSE =& 8,856
206 M2t 5,610 5,860 £250
o1 bl 5,610 5,860 £250
ogelg R 2,420
OMESE 224018 HlY L O 7 3,190
307 212t0I & 2,112 2,112 0
05 BI2t9l et 2 2,112 2,112 0
OMYIISEHAE SUZHALELY R
176,000 = 122 2,112
MYINBEHANE X B 82,372 94,087 A11,715
201 LBt H Y| 81,372 61,072 20,300
01 At et 66,372 48,072 18,300
OHELH2ES DB NBEY
1,500,008 * 23l 3,000
OA2AE HEEBAR N2 LY
5,000,0008 * 13l 5,000
OFE4+H2S RYBE o
500,0009! * 33l 1,500
OMYOIIX2IE HatE A 200,008 * 18] 200
OA2TH 2 2H MIH  2,000,0008 * 23] 4,000
OZEIaE HA 18,000
OFIIQFBE @442 360,0008 « 122 4,320
OA2AE HELU AHAA 248
150,0008 * 13l 150
O - UJ - HIIE S AA 228 25,402
OMYIIZEHIE SA LY 4,800
02 ZZ2YH| 15,000 13,000 2,000
OJ2E 2 ®HEI | 1,000




SN BIETAYA
BE: MEdIBEHAY 2L
gelr XIS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIH & HIANE KXY 10,000
OHZAE & T2 K|
200,000& = 53| 1,000
OHE SR XL 1,000,000& * 3= 3,000
405 RHoHF S HI 1,000 33,015 A 32,015
01 et EZFH S 1,000 33,015 A 32,015
OulIH 2l 500,000& * 2CH 1,000
MEYJIEBEHEIAE THE 22,300 22,700 A 400
206 = Hl 22,300 22,700 A 400
01 MHZ 4l 22,300 22,700 A 400
OMYDIEE M E 48 P2 13,000
O Z e ¢ 1,750,000& * 23] 3,500
O==olCHHl Ot & HIEY & 500
ONg & Crgar & 2 ¢ 5,000
o237 2 300
MEYJI B HEIAE B 48,000 52,000 A 4,000
401 AIEHI L 2 CHYI 48,000 52,000 A 4,000
01 A& HI 48,000 52,000 A 4,000
O3J10gl] H2w 15,000
OdEaE E= 8,000,000& * 14! 8,000
omg:=ege 37 2= 5,000
OJIH & HIANE B+ 20,000
O ESAE MEH B3 284,932 373,520 A\ 88,588
= 94,300
< 31,290
i 159,342
OrsAE 25 Y ToHXl 2el 284,932 304,720 N 19,788
= 94,300
< 31,290
s 159,342
Ot =s= IloHE & 420 53,420 /53,000
201 L2 | 420 420 0
01 At 22/l 420 420 0
OsHESLdE4ARAZ e &
70,0003 = 3" « 23| 420
O == Il oh ol et 188,600 198,600 A 10,000
= 94,300
< 28,290
s 66,010
402 2I2H X201 M 188,600 198,600 210,000
= 94,300
< 28,290




SN BIETAYA
I OfUSA S dEH 23
& ordsAE 25 ¥ OdiXl 2el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 66,010
01 RIZERt 22X 188,600 198,600 A 10,000
O0tMSE moliole XA 188,600
= 94,300
< 28,290
s 66,010
OfsE &8s XA (XA) 67,800 36,300 31,500
201 Let249] 22,000 14,000 8,000
01 At 22l 22,000 14,000 8,000
OMsE B35 2,000
-3 10,000& * 7504 750
-At= 10,000& = 12574 1,250
OfRdiotMsSE HolEXNH 2EME 20,000
206 M= Hl 25,000 9,000 16,000
01 M2 4l 25,000 9,000 16,000
ORMOIMSE ToleXc RFU 25,000
301 et d = 20,800 13,300 7,500
1M1IIEESS 20,800 13,300 7,500
O0tdssS 288 24 300
O0rds= X =l 500
OotdE=E eldIol XI=Hl 10,000
OROIdsE 224 10,000
OIM==EE235d 29 18,112 8,600 9,512
101 @124l 18,112 8,600 9,512
40|12t Z2HEE = 18,112 8,600 9,512
OOtMS - 2258 o=y
45,2803 * 1002 » 49 18,112
MEHHwE OFMSAE EX 10,000 7,800 2,200
= 3,000
[ 7,000
101 124 dl 10,000 7,800 2,200
< 3,000
e 7,000
04 JI2ZtHZ22 a2+ 10,000 7,800 2,200
OHMdEfAHwE OLESAE EXl R 10,000
< 3,000
[ia 7,000
toleg 22 20,400 2,379,400 A 2,359,000
= 9,000
[ia 11,400
tolegad 2el 2,400 23,400 A 21,000
BHEOtA &= 2,400 2,400 0
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SH: BHESEAYA
HH: HHSYAL(BALTAYL)
CHol: Q2 ol (BT A A) (el @)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ST 22 HER)
2,687& x 128 » 8A|2t x 365/2 47,077
=X 22 H(=F)
2,497& x 3H * 8Al2t = 365/2 10,937
Osgze=4g 56,529
-BH=X 22X (EE)
64,7882 * 12% = 118/2 45,870
- EX 22X (=A)
60,2153 = 3% = 118/2 10,659
03 I HLZZAHE 181,768 176,835 4,933
OMHIISE Ml &AL QY AL (4Y) 181,112
O & 222d 0= 656
&= 17,0008 * 49 * 23] 136
-ghets 30,0003 * 4Y x 13 120
-2 9 4,000& * 49 * 23] 32
-Ot& gt 20,000& = 4% * 13 80
S XA 6,000& * 49 * 123 288
2L (st =T A A) 42,430 48,130 A5,700
Jl2dul(stE =T A A) 42,430 48,130 A5,700
201 LEt2 Y| 35,320 41,020 A5,700
01 A2 22| bl 35,320 41,020 A5,700
OJlg+=2Hl 17,100
OPIE=S=2=3:] 5,400
OtlEstss 1,020
-SYNZ 15,000& = 18 = 128 180
-X a2 13,000& * 58 * 12& 780
-XNYGA 2 5,000& * 18 * 128 60
O A 50,000& » 2% » 118 11,800
202 04| 2,160 2,160 0
01 2L Y| 2,160 2,160 0
OB+ A A J2gl =4 2,160
203 &R =&H| 4,950 4,950 0
02 R R =AY 1,116 1,116 0
OXE A& A HH|
40,000& = 31H * 90/100 1,116
04 EANSHLRF=AH| 3,834 3,834 0
OEELTAMNEA BASRILR2F=XH|
355,000 = 12&€ * 90/100 3,834
MPES(#ETZAIEA) 5,400,000 3,730,000 1,670,000
HEHA XS (BHE T AIE ) 5,400,000 3,730,000 1,670,000
WEHH X = 5,400,000 3,730,000 1,670,000




SN BIETAYA
HH: HRES(BILTALL)
Gel: WRAHAHXS (2T AEA) (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
701 JIEISI HEES 5,400,000 3,730,000 1,670,000
01 JIEt3I HE &= 5,400,000 3,730,000 1,670,000
O AASEINH H&3 1,500,000
O=x=ZNHSEH dE= 3,900,000




